
giot*-tinnt

ilore counting problems.

t. You arc part of a group ot 13 people waiting to buy tickets for the next movie about thg x-Men.
Tho theater managor dccldg! thatyou wlll all loam ona llno with thc order picked at hndom.
Of couFe, tbat moans that all possible waF th. line can be formed arc equally likely to be the
final ordo.. How many waF can the lino be formed, and what is the plobability that you will
find yourself at the f.ont of the lino?
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2. You are tlavelling by ainlane to anothel city. Before you boatded the ai.plano, you chackod
six (6) difrerent piecas ot luggage. Sadly, two ot tho $ix piecog of luggago will be lost by the
airline, The six pioces ot luggage are (t) a hat box, (2) a hrgo suftcase, (3) a small suitcaae,
(4) ! dufi. b.g, (5) . box ot boota, and (6) a mtkcup ct3o. How m.ny ditf.tlnt !.t! of four
llggage pieces aro pooriblg tor you to have at the end of your t ip.
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3. Fo. a now "code" used by a netwo.k of sploa, evcry word in the Engliah language will bo tumgd
into a unique set of six letteF. For exrmplo. the word "hof' might be coded a3 "xoopop'. As
you can see, each lettd can tt€ used more than once. How many diffe6nt woids could bq
cod.d in thir w'y, glvcn lh.t th.l! ar! 2G l.ttc6 in thc Engliah .lph!b.t?
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ttore countlng probloma (conthucd).

4. A row of lacos includo€ 3 plain, 4 with mild sauce, 5 with hol s!l.rce, and 6 with 'nfile" sauce.
Five of tho 18 taco€ wlll bo pickod at rlndom, What i8 the probability that the five leLctod
t co6 will be "mild, mild, fiio, hot, flrc" in that order? (shori, how you got your answe(
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5. A local Pet sto|t ha! 7 cat8 and 4 dogs rv.iting to be adoptod. Each animal ia distinct fom
all of the others. Tor!9r4r, 3 pcople will come to th. store tnd adopt ono of those pets.
How m.ny pogsiblq'waytcould thc 3 rdopllon3 ocqul? (Example: Dog3, Cat6, Cae)
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mgrcury wag us.d in gold mining t20 years .go. Blogd t6la will be donc oD 30 p.oplo from -
the town to see if m.rcury ia pis€ent at unaate leveb in thei. blood. How many diffsro.nt
9roup6 of 3ll pooplo .r€ poarlble fo. the study detignar3 to chooqe?
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7. In prablom #8, 8 of tho townb tl8 pgoplc have hlgh mercu.y lovela in their blood. whtt b
the pobabillty that nono of the6e 8 people end up in tho simple ol 30 lglgctod tor study?
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